the curve (i) at P(a,

From (iii), the slope of the tangent to

the curve (i) at P(a,
to curve (:') atP = slope",,,_

of the tangent to a) = -f- =-1

Thus, the slope of tangent
curves touch at P(@, ).
s touch .at ;

Similarly, the given curve
Hence, the given curves touch each othe
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. ; x2 y2
. Find the points on the curve 2 t55 =1atwhich the tangents are

(a) parallel to x-axis (b) parallel to y-axis.

. Find the points on the curve y = 13- 322 4 9y at which the tangent lines are parallel to the line
y-2x+3=0.

. Find the equations of the tangent and the no
point:

()= x3 at (1,1)

(i)) y=x*=6x3+13x2-10x + 5 at (1, 3)
(i) y=x*-6x3+13x2-10x + 5 at (0,5)
(i0) y=22at(0,0)

rmal to each of the following curves at the given

. Find the equation of the normal to the curve ay? = x3 at the point (am2, am3).

. Find the equations of the tangent and the normal to the curve x2/3 + yﬂs =23
. Find the equations of all lines having slope 2 and bemgJ §

2 -0,
-3
. Find the equations of the normals to the cutye 22
x+3y=4. i :

. Find the equation of the normal to ;thS curve
3x-4y=7. :

g‘g = 4y which passes through

ach other

- i‘rﬁ@}‘sla 12 and ,12:;:;’1;'_:.-';( intersect orthogonally




